C3 : TRIGONOMETRY 

1)
(i)
Given that sin x = 
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3

, use an appropriate double angle formula to find the exact value of sec 2x.





      (4)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


(ii)
Prove that 




cot 2x + cosec 2x ( cot x, 
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(4)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

2) 
(i) Given that cos(x + 30)( = 3 cos(x – 30)(, prove that tan x( = (
[image: image3.wmf]2

3

. 
(5)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(ii)
(a)
Prove that 
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(3)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..


(b)
Verify that ( = 180( is a solution of the equation sin 2( = 2 – 2 cos 2(. 

(1)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


(c)
Using the result in part (a), or otherwise, find the other two solutions, 0 < ( < 360(, of the equation using sin 2( = 2 – 2 cos 2(.

(4)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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3) 
(a)
Express sin x + (3 cos x in the form R sin (x + (), where R > 0 and 0 < ( < 90(. 

 (4)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

(b)
Show that the equation sec x + (3 cosec x = 4 can be written in the form






sin x + (3 cos x = 2 sin 2x. 

(3)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(c)
Deduce from parts (a) and (b) that sec x + (3 cosec x = 4 can be written in the form 






  sin 2x – sin (x + 60() = 0.

(1)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
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Did your score match your estimated ‘success level’ ?

	Skill
	Qu
	(
	(

	I know the relationship of secant, cosecant and cotangent with tangent, sine and cosine
	
	
	

	I can use of formulae for sin (A
[image: image5.wmf]±

B), cos (A
[image: image6.wmf]±

B) and tan (A
[image: image7.wmf]±

B)
	
	
	

	I know the Double Angle formulae
	
	
	

	I can prove trigonometrical identities
	
	
	

	I can write expressions for acos( +bsin(  in the equivalent forms of rcos(( ± () or rsin(( ± ( )
	
	
	


                    ( Yippee!! - I got all the questions correct.

                    ( I made mistakes and need to practise this topic more.

	Top 3 topics I need to study further are:

	


Score:		Percentage:			Grade:		    Effort:





Low                 High


 O     O     O     O	





Overall, for this assessment I think my success level is: 
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